1= #E$35E (2B) Tube Fitting (Black)

MR HE

——

Model ™3™ A | B | L |gp|c |E | H | R |OF

PLL4-M5 33 | 232 | 275 137 | 155 | 8 M5X0.8 2

PLL4-01 4 135 | 284 | 327 | 8 |13.7 | 155 | 10 PT1/8 4

PLL4-02 16.1 | 31.6 | 35.9 137 | 155 | 14 PT1/4 4

PLL6-M5 3.3 | 245 | 30.1 138 | 162 | 8 M5X0.8 2

PLL6-01 6 135 | 29.7 | 353 | 10 | 139 | 165 | 10 PT1/8 4

PLL6-02 16.1 | 32.9 | 385 14 | 157 | 14 PT1/4 4

E PLL8-01 145 | 37 | 444 202 | 226 | 10 PT1/8 5

c PLL8-02 8 18.1 | 381 | 455 | 136 | 20 | 225 | 14 PT1/4 5

PLL8-03 166 | 376 | 45 201 | 225 | 17 PT3/8 5

i 6 T "1 ™\ PLL10-02 19.6 | 45.2 | 54.2 241 | 276 | 15 PT1/4 8
SIS X PLL10-03 10 | 196 | 453 | 543 | 16.7 | 242 | 276 | 17 PT3/8 9.8
I ‘f PLL10-04 22 | 476 | 56.6 243 | 275 | 21 PT1/2 9.8

T 1T T PLL12-02 196 | 47 | 57.3 248 | 289 | 15 PT1/4 8

PLL12-03 12 | 196 | 471 | 574 | 197 | 249 | 289 | 17 PT3/8 9.2

ot LL| @ ~ PLL12-04 22 | 49.4 | 59.6 25 | 288 | 21 PT1/2 9.2

Elunh
R r/

Metric thread type
A it

PL L BiSE

NI Long Elbow

oo | oo [

Model M3 A | B | L |@p| Cc | E | H | R |0

PLL4-M5-NI 33 | 2382|275 134 [ 152 | 8 | M5X08 | 2

PLL4-01-NI 4 135|284 327 | 8 |134 [152 | 10 | PT1/8 4

PLL4-02-NI 16.1 | 31.6 | 359 134 [ 152 | 14 | PT14 4

PLL6-M5-NI 3.3 | 245 | 30.1 133 | 16 | 8 | msx08 | 2

PLL6-01-NI 6 | 135 (297 353 | 10 |134 | 16 | 10 | PTU8 4

E PLL6-02-NI 16.1 | 32.9 | 385 135 | 16 | 14 | PT14 4

c PLL8-01-NI 145 | 37 | 444 19.2 [ 215 | 10 | PT18 5

PLL8-02-NI 8 [ 181 381|455 |136 | 19 | 215 | 14 | PT1/4 5

5 e 6 Y PLL8-03-NI 16.6 | 37.6 | 45 191 | 215 | 17 PT3/8 5
SIS , PLL10-02-NI 19.6 | 452 | 542 231 | 266 | 15 | PT1/4 8
1Py PLL10-03-NI | 10 | 19.6 | 453 | 54.3 | 16.7 | 23.2 | 266 | 17 PT3/8 | 98

T 1T T PLL10-04-NI 22 | 476 | 56.6 233 | 266 | 21 PT12 | 98

PLL12-02-NI 19.6 | 47 | 57.3 233 | 272 | 15 PT1/4 8

sl m| PLL12-03-NI | 12 | 196 | 471 | 574 | 196 | 233 | 272 | 17 | PT3/8 | 9.2

PLL12-04-NI 22 | 494 | 596 233 | 2712 | 21 PT12 | 9.2

ERRRN
R =

Metric thread type
DNFIFEIE

NI: £ERREgE NI:Release Ring (Metallic Body)




T2 HEIETA (E) Tube Fitting (Ivory)
oo

—

ﬁ ‘ ) Model Tu%e[;ﬁa' A B iL opP € E H R Orifice
.i ‘J PLL4-M5-W 33 232 | 215 187 | 155 M5x0.8 2
e ‘ PLL4-01-W 4 135 | 284 | 32.7 8 13.7 | 1565 | 10 | PT1/8 4
..:VL PLL4-02-W 16.1 | 31.6 | 359 137 [/15.5 14 PT1/4 4
é, PLL6-M5-W 813 245 | 30.1 13.8 | 16.2 8 M5x0.8 2
E PLL6-01-W 6 1356 || 297 | 353 10 13.9 | 165 10 PT1/8 4
c PLL6-02-W 16.1 | 32.9 | 385 14 157 | 14 | PT1/4 4
[ S | PLL8-01-W 14.5 37 | 444 202 | 226 | 10 | PT1/8 5
a0 ﬂ[ ! PLL8-02-W 8 18.1 [ 38.1 | 455 | 136 20 225 14 PT1/4 5
SN E) m_ R PLL8-03-W 166 | 37.6 | 45 201 | 225 | 17 | PT3/8 5
_1' == PLL10-02-W 19.6 | 45.2 | 54.2 241 | 276 | 15 | PT1/4 8
PLL10-03-W| 49 196 | 453 | 543 | 16.7 | 242 | 276 1 PT3/8 9.8
OH/ al = PLL10-04-W 22 | 47.6 | 56.6 243 | 275 | 21 PT1/2 9.8
PLL12-02-W 196 | 47 | 57.3 248 | 289 | 15 | PT1/4 8
PLL12-03-W| 42 196 | 471 | 574 | 196 | 249 | 28.9 17 PT3/8 9.2
_EI ———1 < PLL12-04-W 22 | 49.4 | 59.6 25 289 | 21 | PT1/2 9.2
R =
Metric thread type
AHIFEIE
PL L gt EE
NI Long Elbow
.
[ ‘ Model ™35 A | B | L |@P| c | E | H | R | O
l % J PLL4-M5-NI-W 33 [232 | 275 134 | 15.2 8 | M5x0.8 2
éﬂ PLL4-01-NI-W 4 135 | 284 | 327 8 134 | 15.2 10 PT1/8 4
\‘é “4 PLL4-02-NI-W 16.1 | 31.6 | 359 134 | 15.2 14 PT1/4 4
PLL6-M5-NI-W 3.3 24.5 | 301 133 16 8 M5x0.8 2
E PLL6-01-NI-W 6 135 | 297 | 853 10 134 16 10 PT1/8 4
c PLL6-02-NI-W 16.1 | 32.9 | 385 135 | 16 14 | PT1/4 4
Tk PLL8-01-NI-W 145 | 37 | 444 19.2 | 215 | 10 | PT1/8 5
ol 6 -H[ ; \ PLL8-02-NI-W 8 18.1 [ 38.1 | 455 | 136 19 21:5 14 PT1/4 5
Sk “{- e PLL8-03-NI-W 16.6 | 37.6 | 45 191 | 215 | 17 | PT3/8 5
i e PLL10-02-NI-W 19.6 | 452 | 54.2 231 [ 266 | 15 | PT1/4 8
PLL10-03-NI-\W | 10 196 |453 | 543 | 16.7 | 232 | 266 | 17 | PT3/8 9.8
OH/ al = PLL10-04-NI-W 22 476 | 56.6 23.3 | 26.6 21 PT1/2 9.8
PLL12-02-NI-W 19.6 47 B57.3 233 | 272 15 PT1/4 8
PLL12-03-NI-W | 12 196 |471 | 57.4 | 196 | 233 | 27.2 17 PT3/8 9.2
j ™ 7 < PLL12-04-NI-W 22 49.4 | 59.6 23.3 | 27.2 21 PT1/2 9.2

R =/

Metric thread type
AHIZFEI

NI: £/BIREHE

NI:Release Ring (Metallic Body)




